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PX<a)= 5P

(a) =5

0.01 |0.05 |0.10 {0.20 |0.30 |0.40 [0.50 |0.60 |0.70 [0.80 [0.90 [0.95 [0.99

a
951 .774| .590| .328| .168( .078| .031| .010| .002| .000| .000| .000| .000| O
999 977 .919| .737| .528| .337| .188| .087| .031| .007| .000| .000| .000| 1

1.000| .999| .991| .942| .837| .683| .500| .317| .163| .058| .009| .001| .000| 2

1.000(1.000|1.000| .993| .969| .913| .812| .663| .472| .263| .081| .023| .001| 3

1.000)| 1.000| 1.000| 1.000| .998| .990| .969| .922| .832| .672| .410| .226| .049| 4

a
0
1
2
3
4
A
N
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binomll<-rep{Ma,5)
binoml2<-rep{ma,5)
binoml3<-rep{Ma,5)

binomll[1]=<-pbinom{C, 5, 0.1)
binoml2[1]=<-pbinom{C0, 5, 0.2)
binoml3[1]<-pbinom{C0, 5, 0.3)

e R = L, R S W R I

9~ for{i in 2:5) {
10 binomll[i]<-pbinom(i-1, 5, 0.1)
11
12
13~ for(i in 2:5) {
14 binoml2[i]=-pbinom({i-1, 5, 0.2)
15
16
17 = for{i in 2:5) {
18 binoml3[i]<-pbinom(i-1, 5, 0.3)
19
20
21 (binom=-chind(binomll,binoml2, binoml3))
22

(=]

[

(=]

[1,]
[2,]
[3,]
[4,]
[5,]

binomll
0. 59049
0.91854
0.99144
0. 99954
0. 99999

binoml2
0.32768
0.73728
0.94208
0.99328
0. 99968

binoml3
0.16807
0.52822
0.83692
0.96922
0. 99757

.

b
1y
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ek fdel= A9 dE 59 5 398 0] v &E-2 0.05120|t}. 12|31 37
o)’de]| v EE2 v &2

I’(J(Tzz 55)22217}((55)‘+—I)><(41)‘+—I)}<(55)
=0.0512+0.0064+0.0003=0.0579
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1 set.seed(12345)
2
3 r<=-10000
A
5 binoml<-rbinom({r, 10, 0.
6 binom2<-rbinom{r, 10, 0.
7 binom3<-rbinom{r, 20, 0.
8
9 par(mfrow=c(1,3))
10
11 hist(binoml, breaks=100,
12 hist(binom2, breaks=100,
13 hist(binom3, breaks=100,
14

x1ab="n=10 p=0.1
xlab="n=10 p=0.5
x1ab="n=20 p=0.5
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par (mfrow=c(2,2)
n<-25 # Al # 3 =
p_list<-c(0.1, 0.2, 0.5, 0.7) # LH=ZF

~ for (i in 1:l1ength(p_1ist)) {

p_x<-dbinom(x=1:n, n,
plot(x=1:n, p_x, xlab="x", ylab="P(x=x)",

ylim=c(0, 0.3), xTim=c(1l,n), main=paste("p=", p_list[i]1))
x_seq<-seq(l,n,1)
lines(x_seq, p_x, type="h", col="blue™)

P(X=x)

P(X=x)
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